7. Assemble Router Mount

Guide ID: 115 - Release: v1.2 [minor] 2020-07-27

O 00Znest

7. Assemble Router Mount

This guide will go through how to assemble the WorkBee Router Mount

N1/

This document was generated on 2022-02-04 09:34:27 AM (MST).
© 2022 learn.ooznest.co.uk/ Page 1 of 3



7. Assemble Router Mount Guide ID: 115 - Release: v1.2 [minor] 2020-07-27

PARTS:

Router Mount (1)

Angle Corner (4)

M5 Low Profile Bolt - 20mm (2)
M5 Low Profile Bolt - 10mm (4)
M5 Low Profile Bolt - 8mm (4)
M5 Drop-In Tee-Nut (4)

This document was generated on 2022-02-04 09:34:27 AM (MST).
© 2022 learn.ooznest.co.uk/ Page 2 of 3


https://ooznest.co.uk/product/router-spindle-mount/
https://ooznest.co.uk/product/90-degree-angle-corner/
https://ooznest.co.uk/product/low-profile-m5-bolts/
https://ooznest.co.uk/product/low-profile-m5-bolts/
https://ooznest.co.uk/product/low-profile-m5-bolts/
https://ooznest.co.uk/product/drop-in-tee-nuts/

7. Assemble Router Mount Guide ID: 115 - Release: v1.2 [minor] 2020-07-27

Step 1 — Router Mount Assembly

@ On the outer most holes on the
Router-Mount attach 4 x Angle-
Corners using 4 x M5- Low-Profile-
10mm Bolts.

A Make sure the angle corners are
flush with the back of the Router-
Mount.

e Attach the Router-Mount to the Z-
Axis extrusions using 4 x M5-Low-
Profile-8mm Bolts and 4 x M5-Drop-
In-Tee-Nuts.

/N\ Make sure the Router-Mount is
perpendicular to the extrusion.

@ The Router-Mount position
depends on what jobs you are
planning to do, however 1/3 of the
way up the extrusion is a good
position for normal work.

e Clamp the router inside the Router-
Mount using the front plate and two
M5-Low-Profile- 20mm Bolts.

Thanks for following the guide. Any issues, please contact us!

This document was generated on 2022-02-04 09:34:27 AM (MST).

© 2022 learn.ooznest.co.uk/ Page 3 of 3



	7. Assemble Router Mount
	Written By: Ryan Christy

	PARTS:
	Step 1 — Router Mount Assembly


